

Ontario Provincial Police South Bruce Detachment

Inspector Krista Miller

Detachment Commander's Report Kincardine Police Services Board

November - December 2021

Violent Crime Actual November to Year to Date -5 December December 2020 2021 2020 2021 % % Change Change 4 0 0 Murder 0 0 _ 2 Actual 5 0 0 0 0 Other Offences Causing ___ ___ Death Attempted Murder 0 0 0 0 ___ 2 2 5 10 -50.0% Sexual Assault 0.0% 1 5 4 -20.0% 38 40 Assault 5.3% 0 1 Abduction 0 _ 1 0.0% 0 Robbery 0 0 0 0 ---_. Sexual Other Assault Other Crimes Against a 3 2 25 Assau... Crimes... -33.3% 28 12.0% Person 2020 2021 10 -20.0% 74 74 0.0% Total 8 **Property Crime** November to Actual Year to Date -12 December December 10 2020 2021 2020 2021 % % 8 Actual Change Change 6 Arson 0 0 0 0 4 5 ROVEL UNDER OF ... Fraud 3 66.7% 25 28 Break & Enter 12.0% 2 3 2 Theft Over -33.3% 17 19 11.8% Therever Break Brite... 0 Mischief Theft Under 5 11 120.0% 88 71 -19.3% 3 50.0% Have Stolen Goods 0 2 1 11 4 Fraud -63.6% 81 52 -35.8% Mischief 6 10 66.7% 45 63 40.0% 2020 2021 -8.5% Total 28 33 17.9% 258 236 Drug Crime Year to Date -Actual November to 2 December December 2 2020 2021 2020 2021 % % Actual 1 Change Change Possession 0 -100.0% 7 -28.6% 1 5 0 0 2 2 7 Trafficking 250.0% ---0 0 0 0 0 Importation and Trafficking ___ ___ Possession Production 2020 2021

Total

1

2 100.0%

9

12 33.3%

Police Services Board Report for Kincardine Records Management System November to December - 2021

Police Services Board Report for Kincardine Records Management System November to December - 2021

Clearance Rate							_				
Clearance Rate	Nover	nber to D	ecember	Year to	o Date - D	December	100%				
	2020	2021	Difference	2020	2021	Difference	80%				
Violent Crime	70.0%	75.0%	5.0%	60.8%	67.6%	6.8%	60% 40%				
Property Crime	14.3%	15.2%	0.9%	15.9%	8.9%	-7.0%	20%	e de la compañía de la			
Drug Crime	100.0%	0.0%	-100.0%	55.6%	33.3%	-22.2%	0%	Violent Crim	Property	Drug	Total
Total (Violent, Property & Drug)	38.6%	27.3%	-11.4%	28.6%	25.2%	-3.4%		Crim	Cri 2020	Crime 2021	(Viole



Calls For Service (CFS) Billing Summary Report

Municipality of Kincardine November to December - 2021

Billing Categories	2021					2020			
(Billing categories below do not match traditional crime groupings)	November to December	Year to Date	Time Standard	Year To Date Weighted Hours		November to December	Year to Date	Time Standard	Year To Date Weighted Hours
Violent Criminal Code	8	81	16.0	1,296.0		10	76	16.0	1,216.0
Property Crime Violations	34	259	6.5	1,683.5		31	268	6.5	1,742.0
Other Criminal Code Violations (Excluding traffic)	7	60	7.8	468.0		15	70	7.8	546.0
Drug Possession	0	12	6.5	78.0		2	26	6.5	169.0
Drugs	2	7	45.9	321.3		0	2	45.9	91.8
Statutes & Acts	28	202	3.4	686.8		24	236	3.4	802.4
Operational	131	1,029	3.6	3,704.4		128	1,004	3.6	3,614.4
Operational2	49	237	1.3	308.1		39	215	1.3	279.5
Traffic	46	209	3.4	710.6		35	186	3.4	632.4
Total	305	2,096		9,256.7		284	2,083		9,093.5

Motor Vehicle Collisions	Novemb 2021	cember	Year to Date – December 31st			
comstons	2020	2021	% Change	2020	2021	% Change
Fatal	0	0	0 %	2	1	-50%
Personal Injury	2	2	0%	11	18	61%
Property Damage	33	44	25%	173	167	-4%
Total	35	46	24%	186	186	0%

Kincardine Police Service Board Motor Vehicle Collision Data November 2021

Incident Date	Incident Time	Location	Jurisdiction	RdHwy Intersection	Incident Type	Report Type
02 Nov 2021	12:20	NORTH	KINCARDINE	BROADWAY	Property Damage Only	Motor Vehicle
02 Nov 2021	19:20	21 21	KINCARDINE	CONCESSION 7	Property Damage Only	Motor Vehicle
03 Nov 2021	07:48	BROADWAY	KINCARDINE	21	Property Damage Only	Motor Vehicle
03 Nov 2021	09:28	CONCESSION 8	KINCARDINE	SIDEROAD 25	Property Damage Only	Motor Vehicle
05 Nov 2021	05:45	21 21	KINCARDINE	CONCESSION 10	Property Damage Only	Motor Vehicle
08 Nov 2021	06:45	21 21	KINCARDINE	CONCESSION 8	Property Damage Only	Motor Vehicle
09 Nov 2021	10:00	PHILIP	KINCARDINE		Property Damage Only	Motor Vehicle
14 Nov 2021	12:00	CONCESSION 6	KINCARDINE	21	Property Damage Only	Motor Vehicle
15 Nov 2021	17:30	BRUCE NUCLEAR	KINCARDINE		Property Damage Only	Motor Vehicle
15 Nov 2021	11:50	BRUCE ROAD 23	KINCARDINE	LORNE BEACH	Property Damage Only	Motor Vehicle
15 Nov 2021	16:15	BRUCE ROAD 23	KINCARDINE	BRUCE ROAD 15	Property Damage Only	Motor Vehicle
09 Nov 2021	12:25	TIE RD	KINCARDINE		Property Damage Only	Motor Vehicle
18 Nov 2021	19:45	CONCESSION 12	KINCARDINE	BRUCE ROAD 33	Property Damage Only	Motor Vehicle

18 Nov 2021	19:59	BAIE DU DORE	KINCARDINE	BRUCE ROAD 33	Property Damage Only	Motor Vehicle
18 Nov 2021	17:48	BRUCE ROAD 20	KINCARDINE	BRUCE ROAD 23	Non-Fatal Injury	Motor Vehicle
20 Nov 2021	15:30	SUTTON	KINCARDINE	PHILIP	Property Damage Only	Motor Vehicle
21 Nov 2021	05:45	21 21	KINCARDINE	BRUCE	Property Damage Only	Motor Vehicle
15 Nov 2021	20:01	BRUCE ROAD 20	KINCARDINE	BRUCE ROAD 33	Property Damage Only	Motor Vehicle
22 Nov 2021	11:40	BRUCE NUCLEAR	KINCARDINE		Property Damage Only	Motor Vehicle
23 Nov 2021	08:00	ALMA	KINCARDINE	ALBERT	Property Damage Only	Motor Vehicle
23 Nov 2021	07:10	BRUCE ROAD 33	KINCARDINE	CONCESSION 6	Property Damage Only	Motor Vehicle
25 Nov 2021	16:02	BRUCE ROAD 1	KINCARDINE		Property Damage Only	Motor Vehicle
29 Nov 2021	11:10	21 21	KINCARDINE	9	Property Damage Only	Motor Vehicle

Municipality of Kincardine Motor Vehicle Collision Data December 2021

Incident Date	Incident Time	Location	Jurisdiction	RdHwy Intersection	Incident Type
02 Dec 2021	08:35	DURHAM	KINCARDINE	MACKENDRICK	Property Damage Only
02 Dec 2021	10:55	21 21	KINCARDINE	DURHAM	Property Damage Only
04 Dec 2021	20:08	99	KINCARDINE	KINCARDINE- KINLOSS	Property Damage Only
03 Dec 2021	20:43	21 21	KINCARDINE	CONCESSION 5	Non- Fatal Injury
04 Dec 2021	18:49	BRUCE ROAD 23	KINCARDINE	CONCESSION 7	Property Damage Only
07 Dec 2021	14:50	QUEEN ST	KINCARDINE		Property Damage Only
09 Dec 2021	14:15	BRUCE- GREENOCK NORTH	KINCARDINE	CONCESSION 12	Property Damage Only
10 Dec 2021	06:22	BRUCE ROAD 15	KINCARDINE	21	Property Damage Only
10 Dec 2021	06:26	BRUCE ROAD 23	KINCARDINE	CONCESSION 2	Property Damage Only
14 Dec 2021	15:00	21 21	KINCARDINE	NORTH LINE	Property Damage Only
14 Dec 2021	11:25	QUEEN	KINCARDINE	BROADWAY	Non- Fatal Injury
10 Dec 2021	07:30	BRUCE ROAD 33	KINCARDINE	CONCESSION 10	Property Damage Only
14 Dec 2021	02:00	BRUCE NUCLEAR	KINCARDINE		Property Damage Only

09 Dec 2021	20:50	21 21	KINCARDINE	Concession 7	Property Damage Only
15 Dec 2021	06:50	CONCESSION 2	KINCARDINE	Albert Rd	Property Damage Only
15 Dec 2021	06:55	CONCESSION 2	KINCARDINE	Albert Rd	Property Damage Only
18 Dec 2021	14:00	21 21	KINCARDINE	CONCESSION 7	Property Damage Only
17 Dec 2021	15:40	21 21	KINCARDINE	RUSSELL	Property Damage Only
20 Dec 2021	18:09	HIGHWAY 21	KINCARDINE	BRUCE- SAUGEEN	Property Damage Only
22 Dec 2021	12:30	CONCESSION 2	KINCARDINE	SIDEROAD J/1	Property Damage Only
16 Dec 2021	13:34	HIGHWAY 21	KINCARDINE		Property Damage Only
27 Dec 2021	23:42	CONCESSION 12	KINCARDINE	SIDEROAD 20	Property Damage Only
29 Dec 2021	20:08	TIE RD	KINCARDINE		Property Damage Only

Offence	Nov	Nov	Nov	3 Year
	2019	2020	2021	Average
Traffic Complaint	17	15	15	15.6
Traffic Hazard	2	5	4	3.6
RIDE Programs	14	1	5	6.6
Dangerous Operation	0	0	0	0.0
Traffic Enforcement	4	4	4	4.0
Impaired/Over 80	2	1	1	1.3
Warn Range	0	0	0	0.0
Suspensions				
Stunt Driving	2	1	2	1.6
ETicketing	N/A	N/A	29	N/A

Kincardine – Traffic Statistics November 2021

Offence	Dec	Dec	Dec	3 Year
	2019	2020	2021	Average
Traffic Complaint	7	16	20	14.3
Traffic Hazard	3	3	7	4.3
RIDE Programs	34	7	18	19.6
Dangerous Operation	0	0	0	0.0
Traffic Enforcement	3	2	4	3.0
Impaired/Over 80	2	4	2	2.6
Warn Range	0	0	0	0.0
Suspensions				
Stunt Driving	0	0	0	0
ETicketing	N/A	N/A	46	N/A

Kincardine – Traffic Statistics December 2021

Detachment Updates

Calls for Service of Note

<u>Break and Enter</u> – Two of the reported Break and Enter calls for service were deemed to be Mental Health related and the appropriate resources were provided to the complainant with our Mobile Mental Health and Addictions Response Team (MMHART).

One of the Break and Enters is still under investigation with an identified suspect.

Charge have been laid in two of the Break Enters. One was Domestic related.

<u>Mischief</u> – \$13,000.00 worth of damage to newly poured concrete was reported.

One Mischief charge was Domestic related.

Property Related - The Community Street Crimes Unit (CSCU) is conducting an investigation into the theft of a number of enclosed trailers containing large amounts of tools in the South Bruce area. There are a number of Persons of Interest that have been identified in this investigation. We would like to remind the public that if they have information regarding stolen property they can contact the OPP at our non-emergency line (1-888-310-1122) or Crime Stoppers if they wish to remain anonymous.

Two significant property crime investigations were concluded in November – one involving a corroboration between Owen Sound Police Service, the OPP Regional Support Unit and the Grey Bruce CSCU and another involving South Bruce frontline officers, Emergency Response Team members, Canine, Aviation and CSCU in Huron-Kinloss. The Owen Sound/Georgian Bluffs investigation resulted in the execution of nine search warrants – drugs, weapons and currency were seized. The Huron-Kinloss investigation resulted in the recovery of over \$60,000.00 worth of stolen property.

<u>Traffic</u> - South Bruce OPP officers participated in the Festive RIDE Campaign setting up 98 RIDE checkpoints across South Bruce during the festive season. This enforcement resulted in 2 30 day driver's licence suspension due to registering a Warn and three Impaired Driving charges. One Impaired Driving arrest occurred due to the result of a Motor Vehicle Collision.

School Resource Officer – November and December

Incident Type	November Total	Yearly Total
Sexual Assault	0	0
Assault	0	5
Threats	2	5
Theft	0	0
Other Criminal/HTA	2	5
Trouble with Youth	6	8
Other Calls for		
Service	23	72
Total	33	68
Diversions	0	1
Presentations	6	24

- 6 presentations completed with JK/SK classes at St. Anthony's Separate School on Community Helpers and Stranger Danger.
- A presentation was conducted with the Grade 12 Law Class at Kincardine District Senior School.
- SRO had the opportunity to sing for Remembrance Day at Huron Heights Public School. The positive outreach from parents and staff to the SRO was amazing. Video was posted on OPP Facebook page and has 3.3k views
- The SRO has been approached by parents on two occasions regarding assistance with their children and ensuring positive relationships with the police and school staff.
- The SRO has worked with a student in conjunction with our MMHART team to provide proper resources for Mental Health concerns.
- The SRO addressed the issue of Tik Tok videos circulating through a school population that were bullying in nature.

Incident Type	<mark>December</mark> Total	Yearly Total
Sexual Assault	0	0
Assault	0	5
Threats	1	6
Theft	0	0
Other Criminal/HTA	0	5
Trouble with Youth	6	14
Other Calls for		
Service	46	72
Total	53	121
Diversions	0	1
Presentations	2	26

- Presentation on Drugs/Alcohol, Sexual Consent and Charges under the Criminal Code with two grade 9 Boys Phys-Ed classes
- The SRO judged the Classroom Christmas Door Decorating Contest at Huron Heights Public School.
- The SRO participated in the Santa Claus Parade at St. Anthony's School.
- The SRO along with Community Service Officer organized a Christmas Contest with all 7 Schools within the Municipality of Kincardine and Huron-Kinloss. The contest was for students to decorate LCBO bags with safety messages "Don't Drink and Drive". Approximately 2000 LCBO bags were decorated and distributed between the Kincardine and Lucknow LCBO's to use throughout the Christmas season. Gift cards were purchased by South Bruce OPP from local businesses and both Municipalities provided swag as draw prizes for each school. The contest was well received by all involved including social media and the LCBO employees were also very happy to see this initiative being done. This contest will be done yearly from now on.

- Calls for service attended by the SRO included driving complaints around schools, truancy concerns and drug investigations.
- The SRO ensured visibility when possible on Highway 21 by KTTPS due to complaints of traffic in that area. A collision occurred while she was present on one location at the end of the school day.